
 
 

Question Scheme Marks AOs 

3 (a) Allow explanations such as 

B1 2.3 

  student should have worked in radians 
 they did not convert degrees to radians 
 40 should be in radians 
   should be in radians 

 angle (or )  should be 40
180
  or 2

9
  

 correct formula is 2
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 {where   is in degrees} 

 correct formula is 2 40
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 

  

  (1)  
(b) 

Way 1 
{Area of sector = }    21 2(5 )

2 9
 

 
 

  M1 1.1b 

                          2 225 {cm } or awrt 8.73 {cm }
9
  A1 1.1b 

  (2)  

(b) 

Way 2 
{Area of sector = }    2 40(5 )

360
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 
 
 

  M1 1.1b 

                          2 225 {cm } or awrt 8.73 {cm }
9
  A1 1.1b 

  (2)  
(3 marks) 

Notes for Question 3 
(a)  
B1: Explains that the formula use is only valid when angle AOB is applied in radians. 
 See scheme for examples of suitable explanations. 
(b) Way 1 

M1: Correct application of the sector formula using a correct value for   in radians 

Note: Allow exact equivalents for   e.g. 40
180


    or   in the range [0.68, 0.71] 

A1*: Accept 25
9
  or awrt 8.73   Note:  Ignore the units 

(b) Way 2 

M1: Correct application of the sector formula in degrees 

A1: Accept 25
9
  or awrt 8.73   Note:  Ignore the units. 

Note: Allow exact equivalents such as 50
18

  

Note: Allow M1 A1 for 2 225500 {cm } or awrt 8.73 {cm }
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